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1) Why is it rational for a poor couple in a developing country such as India to have four or five children? What changes might induce such a couple to consider their behavior irrational?
2) Suppose that all women in the world today began bearing children at a replacement-level fertility rate of 2.1 children per woman. Explain why this would not immediately stop global population growth. About how long would it take for this population growth to stabilize?

3) Why has China been more successful than India in reducing its population growth? Do you agree with China’s current population control policies? Explain. What alternatives or improvements would you suggest to the Chinese government to help make their program work more effectively.

4) What are some of the major arguments for and against reducing birth rates globally?

5) How is modern medicine, in all of its various forms, affecting the global birth and death rates? Summarize birth control methods in the United States, which methods of birth control would be most effective in helping to reduce population growth if provided to developing countries?
6) What is a demographic transition, and what are its four phases? What factors might keep many developing countries from making the demographic transition?

7) Describe immigration in the United States in terms of Numbers, and list the pros and cons of reducing immigration limits.
8) What are some of the major actions deemed necessary by the United Nations to stabilize the world population at 7.8 billion by 2050.

9) What economic rewards and penalties have some countries used to reduce birth rates? What four conditions increase the success of using such economic rewards and penalties?

10) What issues exist with our current system of Social Security,  What will happen as the Baby-boomers reach retirement age and start drawing social security, how will that affect you life and wages once you get out into the workforce?

